
(d) BaS (H) AN

7. The parentheses indicate that the oxygen and hydrogen atoms do not react separately; each ON group is a
polyatomic anion that stays together. The subscript indicates that there are two of these groups with a total
charge of - 2.

8. Ammonium is the exception: it is a
9. The ca:.on is alva3’s written first.

10. (a) Table 2 Identifying Ions

Compound Cation(s) [ Anion(s)

FoWl-Il3 1 Fe3’ 3 OH

Cu(N03), 1 Cu2 2 NO3

A13{S04)3 2 Al34 3 301

(NH4i2CO3 2 NH 1 CO

K3PO 3 K I FO

11. (a) sodium chloride; NaCI; sodium chlorate; NaCIO3
(b) chloride; Cl ; chlorate dO.

(c) CaCI2; Ca(CIO,)1

12. One strategy is to eat fewer prepared foods, such as

‘

_____

(a) r.hrate; potassum ntrate

(b) hydroxide; calcium hydroxide

Cc) carbonate; calcium carbonate

(d) sulfate; copperU) sulfate

(e) hydroxide; potassium hydroxide

(f) nitrate; iron(Hl) nitrate

(g) chlorate; copperfll) chlorate

(H) phosphate; ammonium phosphate
2. (a) (NO,

(b) BaSO4

Cc) l’lH,11103

(d) A13(504)3

3. (a) —ate

(Li) —ide

(e) KCIO,

(t) Cu(NOj,

(g) PbSO4

(H) 5n3(P04)2

can come from fertilizer used on farms.

(e) potassium sulfide

tfl an’nonium sulfate

(g) mangar.eseOl) chlorate

(H) leadOl) iodide

(e) Ca(CIO3)2

(f) Sn(OI1)2

(g) Fe3(PO1),

4. Nitrate contamination

5. (a) tin(ll) carbonate

(Li) calcium chiode

(c) iron(lll) hydroxide

(d) manganesedV) oxide

6. (a) Ca504

(Li) NI 14(1

(c) Cu2CO3

ca:ion that is made up of non-metal atoms, rather than a single met& ion.

frozen dinners, and more fresh foods.


